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#h X A HEH B = &t BIAL AD
® L 164 160 149 309 — 4
5l— & =& 572 555 532 1,087 — 1
X 4~ 17 246 223 265 488 — 2
M 57 165 186 169 355 — 1
N E 1,147 1,124 1,115 2,239 — 8
% M 165 173 157 330 — 2
it m # 86 97 114 211 0
BmoOom 124 123 144 267 0
= |F sl 94 98 95 193 — 1
= x 81 87 100 187 0
E 1R 62 72 76 148 0
|2 o 204 161 186 347| — 1
BES1TEH 120 148 165 313 0
BEL2TEH 1 1 1 2 0
BES3TH 83 112 129 241| + 1
N 1,020 1,072 1,167 2,239 — 3
e = 52 49 51 100] — 1
ah ] 28 25 32 57 0
T A K 68 79 79 158 0
gl A ow 26 22 32 54| — 1
& e 39 30 36 66 0
SCBIR1TE 243 303 299 602 0
5 [SCPR2TE 213 299 297 506| — 5
S(BIR3TE 226 285 273 558 — 2
S(BIRATE 266 302 329 631 — 3
S<L R @ 181 328 297 625 + 1
TN 1,342 1,722 1,725 3,447 — 11
& 297 350 350 700 — 3
3 2 19 18 23 41 0
w|F £ & 62 66 71 137 — 1
i Ly 326 377 383 760 — 3
B 3 & 454 466 541 1,007| + 3
TN 1,158 1,277 1,368 2,645 — 4
XE1TEH 398 431 483 914 — 5
XE2TH 540 605 690 1295 + 12
Xx=3TH 343 397 413 810 0
=|XAE4TH 575 650 684 1334 — 1
XE5TEH 123 130 130 260 — 3
N 1,979 2,213 2,400 4,613 + 3
B 6,646 7.408 7775 15183 — 23
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